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BEANRE BTSSR TR DSR2

£ b B - BIKHE B3 w 2 B ff & # w =
EERE 87, 706, 837
iRy e E S 87, 706, 837
iRy e E S 87, 706, 837
iRy e E S 75, 093, 600
iRy e E S 74, 376, 000
1 BMIRAREREHIERD 24.00 77,280 1,854,720
A
2 MIRKRHEREHIMERQ 24.00 3,021,720 72,521, 280
A
& 662, 400
3 HAEHE 24.00 27, 600 662, 400
[
% - |E 55, 200
4 B - RE 1.00 55, 200 55, 200
=®
EERE 12, 613, 237
EXARE 725,212
5 EXARE 1.00 725,212 725,212
=
BERERARE 1,450, 425
6 BEMERARE 1.00 1,450, 425 1, 450, 425
=
EHAEDEEHS S VEGES 3, 600, 000
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% [ Bg - KT B # B B @ ® # wmE

1 XEREREENS S VEGES 1.00 3,600, 000 3,600, 000
=

bEXY)] 120, 000

8 XBERRRE 1.00 120, 000 120, 000
=

EBRAEBZERNE S UHERES 6,717, 600

I XBERAEBEENB I UVRERES 1.00 6,717, 600 6,717, 600
=




WiER B TRBEm TR AR ERBNLR

% g & - BARTE Bifg B 2 B ® & wmzE
E R 75,093,600 + 12,613, 237 87,706, 837
EEAGE 75, 093, 600
EEEE 12,613, 237
T DR 75,093,600 x 42.86% ( 30% + (1 — 30%) ) 32,185, 116
EHRE 87,706,837 + 32,185, 116 119, 891, 953
—REEES 119,891,953 x 53.85% ( 35% = (1 — 35%) ) — 3,769 64, 558, 047
ES it 119,891,953 + 64, 558, 047 184, 450, 000
HBETEALE 184,450,000 x 10.00% 18, 445,000
RHBEREH 184, 450,000 + 18, 445, 000 202, 895, 000
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51
& TR REREHENERD 1H&Y
2 o g - BIRTE BT = B ff %8 i
B TE AR (A)
A 1.40 55, 200. 00 71, 280
& it 1E%8EH : 1.00R 71, 280. 00 71, 280
52
£ TR REREHNERKQ 1H&Y
2 £ g - BIRTE BT = B ff %8 1%
L RE HER (C)
= 1.00 3,021, 720. 00 3,021,720
& it 1E%8EH : 1.00R 3,021, 720. 00 3,021,720
5 :3
B HTEE EEY
2 7 g - BIRTE BT = B ff %8 i
B TE HER (A)
A 0.50 55, 200. 00 217,600
& it EZ8EA - 1.00E 27, 600. 00 27, 600
25 :4
2% - %E - |mE 1XEY
2 7 g - BIRTE BT = B ff %8 i
B TE HER (A)
A 1.00 55, 200. 00 55, 200
& it 1EZRER : 1.00 55, 200. 00 55, 200
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BIUTRESETIK RS ES

F5:5
2% EHARE 1KY
2 o g - BIRTE By = =i} %8 i
EHARE
= 1.00 725, 212. 00 725,212
& it 1EZ8EA - 1.00 725, 212.00 725,212
F5:6
2 . EERERARE 1KY
2 £ g - BIRTE By = B %8 i
BERERARE
= 1.00 1,450, 425. 00 1,450, 425
& it 1EZREA - 1.00 1,450, 425. 00 1,450, 425
&5 :1
& EBAEBEENS L VELRESE 1KY
2 7 g - BIRTE By = B %8 i
P YAY; 1.5L
= 1.00 3, 600, 000. 00 3, 600, 000
& it 1EZRER - 1.00 3, 600, 000. 00 3, 600, 000
F5:8
2 EBHRRE 1KY
2 7 g - BIRTE By = =i} %8 i
EBHRERE
= 1.00 120, 000. 00 120, 000
& it 1EZRER : 1.00 120, 000. 00 120, 000




KT -ELT/ \vr—>
F5:9

BIUTRESETIK RS ES
B FBRAEBEENELVHERES 1X4Y
% FR BB - KT Bifig = B ® # i 1%
a8
= 1.00 6, 717, 600. 00 6, 717, 600
=) & EFEES : 1.00X 6, 717, 600. 00 6, 717, 600




